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- Tlme Three heurs ' - . S Max1mum : 100' mer‘ke
. Aﬁswei' ALL queetienS' . | |
PART A— (10 x 2= 20 malks)
1. LISt the types of 1edeterm1nate beams. .
2. State th'e princip}e of consistent .deformetiex.l..'
3 State Muller ]éreslaﬁ’s pfinciple.

4, What are the thlee types of connectlons poss1b1e w1th the model used with
'Beggs deformetel'? .

"5. " What'is the d'e'g_ree of static indeterminanéy of a three hil_lged parabolic arch? -

6. Explain with the aid of a sketch, the normal thrust and radial shear in an arch
rib. | BT | ' |

A State the assumptions of slope deflection equations. |
8. Mentiori any- three 'reasens_due to which sway 'm-ay occur in portal frames.
"9, What is_,the.carry over factor if the far end is hin'ged? -

10. Ina membe1 AB ifa moment of —-30 kNm is apphed at A what is the moment‘

. _carned over. to B, 1f end. Bis f1xed‘>




~ PART B — (5 x 13 = 65 marks)

11. (a) Analyse the_'truss shown in fig and fihd thé‘ ‘redundant reaction at C by
cons_istent_deforma—tion method. Assuming the cross sectional area of all
members are same. ‘ ' . '
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(b) Determine the reaction components by consistent deformation method in
the Propped cantilever beam ABC supported at B. Span AB = 4 m,
BC =2 m. Two concentrated loads of 30 kN acts at free end C and 80 kN
at 2 m from the fixed end A. : T ' S :

12. (a) A simply supported beam has a span of 20 m. Uniformly d_istri_butéd load -
I “of 40 kN/m and 8 m long crosses the girder from left to right. Draw the
influence line diagram for shear force and bending moment at a section
11 m from left end. Calculate maximum shear force and bending moment -
at this section. ' B o :

. '01.
(b) - Determine the maximum forcés' in the -membi;:-rs UsUs and LsUs of the
bridge truss shown in fig if uniformly distributed load of 60 kN/m longer ' ( N

than the span traverses along the bottom chord members. -
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15. (a)

(b)

A three hinged arch of span 50 m and vise 10 m carries an. uniformly
distributed load of 40 kN/m on the left half of the span and 150 kN at
25 m from nght end. Find the houzontal thr ust. '

Or
A symmetrlcal three hlnged parabolic alch of. span 401n and rise 10 m
carries an uniformly distributed load of 30 kN/m over the left half of the

span. Calculate the reactions at the supports. Calculate the bendmg
moment, 1ad1a1 shea1 and nmmal thrust at 15m from left suppmt

Analyse the beam by the slope deflection method. and draw the BMD. A

* beam ABCD is fixed at A and D &nd simply supported at B and C. Span -
AB =6 m, BC =6 m,”CD = 6 m, subjected to un1f01m1y dlstnbuted load of

a 30 kN/m ovey entire span.

o
Analyse the por tal fl ame shown 1n ﬁg by the slope deﬂectlon method- and
 draw BMD o : ,
A0kN
g C
a
! { | 3.5m
A - D
77777 77T

Deétermine the f1nal moments in the continuous beam ABC subjected to- “
40 kN at 2'm from A and uniformly distributed load of 35 kN/m over the

whole span. BC. Span AB =6 m, BC =5m. lis un1f01m Use moment
" distribution method.

- Or

Determine the-final moments in the beam ABC snpported by the column

BD and is loaded as shown in fig. Use moment distribution method.-
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» PART C— (1 x 15 = 15 marks)

. (@ Analyse the continuous beam ABCD by slope defléction method and find
' the end moments. Supp01t B sinks by 10 mm - E=2x10°N/mm? and
I=16x 107 mm* : :
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(b) Analyse the continuous beam loaded as- shown in f1g by moment
' dlstllbutlon method and flnd final moments.
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